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•1 Note that 1 J = 1 W·s, the number of seconds in a year � � × 107, and the surface 
area of the Earth � 5.1 × 1018 cm2; therefore, 1 watt-year over the entire surface of the 
Earth � 1.61 × 1022 J. 
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http://naturalscience.com/ns/articles/01-16/ns_jeh2.html#Figure2

-3.5
± 1

-0.5
±1

-2.6
±0.5

Ice age forcings W/m

Total = Total forcings
6.6 ± 1.5 W/m2

≡≡≡≡ ∆∆∆∆t = -5 C
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See also:
• http://www.junkscience.com/news/robinson.htm
• http://www.ncpa.org/ba/ba230.html
• http://www.ourcivilisation.com/aginatur/moregw.htm

• http://iglobalwarming.info/?gclid=CMit29bE84ICFUKAEAodgCAksQ
• http://www.ipcc.ch
• http://www.metoffice.com/education/links.html#warming
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• UN unveils plan to release untapped wealth of...$7 
trillion (and solve the world's problems at a stroke) 

• By Philip Thornton, Economics Correspondent 
• Published: 30 January 2006 The Independent
• The most potent threats to life on earth - global warming, 

health pandemics, poverty and armed conflict - could be 
ended by moves that would unlock $7 trillion -
$7,000,000,000,000 (£3.9trn) - of previously untapped 
wealth, the United Nations claims today. 

• The price? An admission that the nation-state is an old-
fashioned concept that has no role to play in a modern 
globalised world where financial markets have to be 
harnessed rather than simply condemned.

• In a groundbreaking move, the UN Development 
Programme (UNDP) has drawn up a visionary proposal 
that has been endorsed by a range of figures including 
Gordon Brown, the Chancellor of the Exchequer, and 
Joseph Stiglitz, the Nobel Laureate.

• It says an unprecedented outbreak of co-operation 
between countries, applied through six specific financial 
tools, would slice through the Gordian knot of problems 
that have bedevilled the world for most of the last 


